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1 # U & 111,516 130, 174 127, 964 16.7 A 1.7 A 4.4
() BRI 62, 463 64, 568 68, 502 3.4 6.1 A 8.4
HEIRA 62, 347 64, 431 68, 352 3.3 6. 1 A 8.4
ZEISZNE 0 0 0 — - —
(2) EHEMN IR 49, 053 65, 606 59, 462 33.7 A 9.4 2.0
hEEFtERAS 49, 053 65, 606 59, 462 33.7 A 9.4 2.7
2 & A 119, 415 128, 148 125, 524 7.3 A 2.0 A D54
MEXER 118, 235 126, 987 122, 829 7.4 A 3.3 A 5.8
BEEE 42,364 45, 859 48, 005 8.2 4.7 A 6.6
ZHRIEE 0 0 0 — — —
Q) EENEHR 1,180 1,161 2,695 A 1.6 132. 1 26.9
HhAEFR 0 0 0 — — | A 100.0
3 UNIEAURZ ZE 5| A 7,899 2,026 2,440 125. 6 20.4] A 183.3
1 BERMIRA 0 0 0 — — | A 100.0
(M F & 0 0 0 — — —
Q) th=EtiEgAS 0 0 0 — — | A 100.0
2 BEXRMZH 0 0 0 — — | A 100.0
() EEHBE 0 0 0 — — | A 100.0
Q) HAHEEERESE 0 0 0 — — | A 100.0
3 BERMIRZ ZES| 0 0 0 — — | A 100.0
1 INEEES A 7,899 2,026 2,440 125. 6 20.4] A 183.0
2 BRINXZ 1,753 3,779 6,219 115.6 64. 6 A 6.1
3 EFHPRX 1,753 3,779 6,219 115. 6 64. 6 A 6.1
1 AERES 0 0 0 — — | A 100.0
1 EEXH 3 3 3 0 0 —
BERPOEBEEH 0 0 0 — — —
IR FRFEEHN 3 1 0 A 2 AT —
EERIZFFEER 0 0 0 — — —
1 #URF 93.4 101.6 101.9 8.2 0.3 —
2 BEINZLEER 52.8 50. 8 55.8 A 2.0 5.0 —
3 HEEREIKRFLE — — — — — —
1 FENBEATEH (AN) A 104, 688 104, 688 103, 960 0.0 A 0.7 —
2 FEXNEFREH (N) B 21,619 24, 417 24,225 12.9 A 0.8 —
3 F A = B/Ax 100 20.7 23.3 23.3 2.7 A 0.0 —
4 FENKEFBER (A) 37,178 37,178 39, 473 0.0 6.2
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